PRACTICE FOR TAKS OBJECTIVE 7
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1. Quadrilateral WXYZ has vertices W(4, 5),
X(6, 3), Y(3,0), and Z(1, 2). What type of
quadrilateral is WXYZ?

A Square

B Rhombus
C Rectangle
D Trapezoid

2. Which points are the vertices of the polygon?
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and (4, 2)
G (2,4,4D,30 -2), (=2, -2),(-42),
and (—4, 4)
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and (-5, 5)
J (4y 2)) (4; 4)’ (_2) 4); (_4; ]-)y (_1! _2)»
and (2, —2)
3. How many lines of symmetry does the polygon
have?
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Chapter 9 Quadratic Relations and Conic Sections

4. Rotate MN 180° about the origin. In which
quadrant is the image of point N?
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F QuadrantI
G QuadrantII
H QuadrantIII
J  QuadrantIV

5. What is an equation of a line of symmetry of

the hexagon?
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A y=—-4x+3
B y=—x-1
-1,_3
¢ y=3"7
D y=7x+3
MIXED TAKS PRACTICE

6. Which of the following is equivalent to
4(3 — x) — 3(2x*> — 9x + 10)? TAKS Obj. 2

F —19x+22

—6x% 4+ 23x — 18

G
H 17x-18
J

6x% — 31x + 42



